MATH 113 - QUIZ 10 - 21 NOVEMBER 2012

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. Consider the function f(z) = 2z® + 4% — sin(7z).
(a) (3 pts.) Find the linearization of f(z) at a = —1.
LN = 2N HHENE—sin M) =
LI 2 Gx> 1 ®x — T cos (TX)
R ) = ¢ (- 8D —Tr(Cos (-TM)) = T—2

LD = LED LA (xaD) = 2+ (T-Dxx) 7

(b) (2 pts.) Use the linearization to estimate f(—1.2). You may leave your answer in terms
of .

*CC_(‘)A X L(~(t'z') = 2.-"(.“"'136—'17_) :. a‘L{_. .2 Tr/
(Actual value %(,7/@2{) (2 L1706 %)

alsout 3% Lnon)

2. (5 pts.) Find a point ¢ in (2, 4) that satisfies the Mean Value Theorem, that is, such that

f4) - f(2)

= 1o

SO~ U416 _

where f(r) = 222 + 4z. '
(

—C )= c + =
(O=test T —

He+Hd=1p —> czg/ |

12




MATH 113 - QUIZ 10 - 21 NOVEMBER 2012
Answer all of the following questions in the space provided. Show all work as partial

credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. Consider the function f(z) = 423 — 222 — In(z).

(2) (3 pts.) Find the linearization of f(z) at ¢ — 1.

L= 42—~ Lult) = 2

L0 = (22—t — L

Fd= -y~ =7

L0 = S+ (=N = 2+7(x-1)

(b) (2 pts.) Use the linearization to estimate f(1.2).

LD LD =+ (D =34 ,
(A'CHGIOUOL[MQ, ~ 3. ?L‘f??} q[oofu,‘l‘ (2% -W.D"‘L)

2. (5 pts.) Find a point ¢ in (0, 2) that satisfies the Mean Value Theorem, that is, such that

f(2) - 1(0)

0 e

where f(z) = 222 — 4z. :
oy = o~y LD~ @ -8 —(o-9) _
7 ~O A 2—

o
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Answer all of the following questions in the space provided. Show all work as partial

credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. Consider the function f(z) = 2z% — 42 — e! <.

(a) (3 pts.) Find the linearization of f(z) at a = 1.

L= 2-4-2" = =3

Ly= ox>— v ™"

eli= -4 +e° =2 |
L0 = HO+£ 00 () = —3+2 (1)

(b) (2 pts.) Use the linearization to estimate f(1.2). ;
A2 LD = 3+26D = ~2.6y

(Actual voluwe 2—~,,'z,s'ev403,
a\rout 1.3 Dy Lo )

2. (5 pts.) Find a point c in (1,3) that satisfies the Mean Value Theoremi, that is, such that

where f(z) = 2% — 42 + 3.
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2c-H=0 — c:—L//



